SAMPE EXAM

1. All of the following favour the
dissociation of oxyhemoglobin to deliver
O, to tissues except —-DL AR X &S
IMATE B RYERELURE O Pk ZEI4HS: - bR
‘T’ -

APO; =1

B.PCO;=70rH+=1

C.Temperature ;B[ = 1

D.PO, =7

2. The partial pressure of oxygen and the
partial pressure of carbon dioxide is

identical in &R BRI &bk BAEE

A.Alveoli and deoxygenated blood fifi; @ F1f7
i

B.Tissues and deoxygenated blood ZH %% F1Hi%
AR

C.Oxygenated blood and tissues & & [ 7% fll
D.Tissues and oxygenated blood 2ZH#kA015
E=NIINLe

3. During prolonged fastings, in what
sequence are the following organic
compounds used up by the body ? fFE=HF

FE R - SR TEIRF AR TE
7 qlw=xZi N

A First carbohydrates, next fats and lastly
proteins & JeiEtiR KAL &) - HAE M
IR EEHE

B.First fats, next carbohydrates and lastly
proteins e ZHEHT » HIZRAK(EEY)
IR EEHE

C.First carbohydrates, next proteins and lastly
lipids E i@ /KIb&ay) > HRXEEHE
 IRRIEHEE

D.First proteins, next lipids and lastly
carbohydrates E/t2EHE » HAXEREE

& EIRK(LEY)
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4. How many molecules of O are used and
how many CO: comes out during the
glycolytic breakdown of one glucose
molecule? ff — {6l ] & i 77 1~ HYHE B fige 22
2 (HET % 0 9 FUURERT %
/> CO, 9

Al;2

B.2;1

C.0;0

D.36; 6

5. Which of the following is made during

the Krebs Cycle? ML THFE R E = E /AT
ﬁfﬁﬁﬁ%’ﬁﬁiﬂ’ﬂo ?

-n0 ¢‘ + MsCan
wican  Sotal oo L N

A.Carbon Dioxide — s {Efi%
B.Glucose &j & i
C.Oxygen Gas & /&
D.Water 7K

6. The longest cell in human body is A f&5
AR

A.Red blood cell 4T 4fif
B.Nerve cell fHZL4HAE
C.Muscle cell flL4fiAE
D.Fat cell BgH754HAE
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7. Which of the following statment is
incorrect regarding ribosome? DL T WRYERE

RXEEREHIBRALE A IERERY 7

A.Can Dbe observed through high
magnification light microscope =] %8 =%
SRR SRR 22

B.Appear as granular structure under the
electron microscope EE-T-EZA{WER [ 2RI
&EtE

C.Eukaryotic ribosome and prokaryotic
ribosome consist only one type of common

ribosomal RNA EAZ A I A A1 FAZ X A
(% i — T 5 FLAVIXEARS RNA ZH

D.The three domains of progenote is based on
16S ribosomal RNA genes K58 = {4544
SR 16S =XERG RNA FOMERZ AN

@evwus
Nucleus

Riboscme

Endoplasmic
Reticulum

8. The shorter and longer arms of a
submetacentric chromosome are referred

to as BEHL O A BB BBRY A BRI R 47 BB R

| —+ Telomere

» Short arm

—p  LENTrOMERE

Lenger arm

—

—Sister chromatid

Cheen e

A.s-arm and l-arm respectively
s-arm A1 I-arm 437

B.p-arm and g-arm respectively
p-arm A1 g-arm 53]

C.g-arm and p-arm respectively
g-arm A1 p-arm 5351

D.m-arm and n-arm respectively
m-arm A1 n-arm 43 7|
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9. If a dicot stem has 100 dark and light
rings on the cut surface then the age of the

plant will be #REE-FEHEYENTE S
100 fEZRENIZREIR » AEYREERK R
A.100 years

B.75 years &

C.50 years

D.25 years F

10. Which of the following is not a
component of the Stomatal apparatus? LA

TH—IEA R RISEEVHBER T ?
A.Stomatal pore & FL

B.Guard cells fr#E4HAE

C.Subsidiary cells [ E4HAE
D.Epidermis 2= &7

11. Multicellular with loose tissue body
organisation is a characteristic feature of

HAGRESRESHI S AR HR =

A.Monera JF %495
B.Protista [ 449

C.Plantae fE#7%:}
D.Fungi E &

12. Chromosomes in bacterial cell can be
dME AP RV ER T D2

A.One in number, and linear {78 & 58
—Hy > W H AR

B.Two in number and circular & & —. -
i

C.Can be either linear or circular, but never
both A] DUELRMEEVH A] UEEIEAY » A
BEMEHMA 2

D.Is always one in number and circular 4&/&
—{[E & H 2 ER
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13. Bacterial cell divides every one minute.
It takes 15 minutes a cup to be one forth
full. How much time will it take to fill the

cup? SHESHHRIE— 5 AT —K - —
FRTI5 Y —BE 15 58 - SHHETH
T4 /DR ?

A.30 minutes 4§
B.45 minutes 47 §%
C.60 minutes 47§%
D.17 minutes 57$#

14. Unicellular, colonial, filamentous,
marine or terrestrial forms. BEB&Hiff - FEHIR

Hh ~ &R - EEEEEE A -

A.Archaebacteria 54l &
B.Cyanobacteria EZ 4l
C.Chrysophytes <55
D.Dinoflagellates E35

15. When there is a difference in
population based on genes, it is said to be a

EENRERNALOEE
=R > BB °
[ Genes =
g h-"__l. L
R

-

A.Mutation Zg5%

B.Speciation 2 &E
C.Extinction &

D.Genetic Variation & {58 F
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16. These two populations of deer have
been split by the river. What fails to occur?

S EREROR B T o (TR ARE
?

A.gene flow between the populations f&EEEfH]
EOE-SPRYTED]

B.genetic drift 7 {522

C.mutations in the populations' DNA f&Ef
DNA yzesE

D.natural selection 5 ZA7E#E

17. A rabbit population exhibits variation
in fur coat thickness in a temperate habitat.
A gradual and lasting cooling in the
habitat's climate decreases the diversity of
the rabbits' fur coat thickness. Which of
the following is the best reason for this

decrease? R FREMERTESRTH
EEEENEL - EEHRENERHR
EARLARE T RFEREENSEME - LU
TEE SR ERE MErRERR ?

A.Only rabbits with a brighter fur coat will
survive. G BB B AR A RELF
G

B.Only rabbits with a darker fur coat will
survive. J5 7 BEORAY R T4 RS
C.Only rabbits with a thinner fur coat will
survive. H7H [ BECHAT R T BEFS
D.Only rabbits with a thicker fur coat will
survive. U RZEERY R T A REAELE ©
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18. This image shows a B oRE f BN
T—fE_
Cross: Aa x Aa

A a
AA | Aa

Aa

A.Punnett Squre %[5, 3
B.PHenotype F %

C.Pedigree .z
D.Homozygous Dominate genotype 4ii 25
PEEL AR

A

d dd

19. two alleles/letters for on trait that are

the same (Ex: DD or dd) #8EI1EARAIREE
FAER/IFRE (f40 : DD B dd)
A.phenotype 71

B.genotype. LAY

C.homozygous 4ii&

D.heterozygous &1~

20. Identify a Vallisneria plant 85I 5 E
B

Emerg:
leaves

Subme
leaves

Stolen

- Roots
Miud

BIOLOGY SUBJECT

Grades 11 - 12 (CATEGORY 2) & 5 2 6 44K (4HAF12)

B.

Water Stem

Submerged leaves

Root
Mud

21. A person has vital capacity of 5L and
residual volume of 1 L. Total lung capacity
....... L. Write answer in number

—EAWFERER 5 BRER 1 F -
BIER Ry o T HBFEREE

Answer (in number): & & (&%)
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22. The number of substrate level
phosphorylations in one turn of citric acid

cycle is ..oceiiiinninnnns Write answer in
number FEERRRIEIR — B E/K BRI
H’g:k% .................. %E&?%g$

Answer (in number) ZE (B ZE ) :

23. Each centriole has a cart wheel
organisation having a whorl of tubulin
fibrils at periphery. These peripheral fibrils
are composed of how many microtubules?

Write answer in number &HEH . VERE
—{EEimsE S - FEA —BHEEH RS
4 - BEBHSMNEHFEEEES/ DMEHK?
HBFREE

Answer (in number) & & (8% )

24. What will be the content of DNA in
somatic cell at G2, if its meiotic products
have 20 picogram(pg) amount of DNA?

Write answer in number %05 E R
EYA 20 K758 (pg) =HIDNA » G2 iz
dHfEEHREY DNA 28R %/D ? HBFES
x

Answer (in number) F & (&%) :
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25. The graph shows the effect of
temperature on the digestion of starch. g%

BTN TR R EHI R -

F 3

rate of
reaction

T T T T
0 10 20 30 40
temperature /°C

At which temperature are starch molecules
broken down most rapidly? Write answer

in number FE(H R T BT 0 f# R
tHh? HBFREE

Answer (in number) & & (8% )

| 1
50 60




